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. stiﬂn‘q
On numberg to 18 are Multiple Choice Que

) n basé
Rumbers 19 and 20 are Assertw"'ﬂmo

Questions of j mark eqch,

() In Section-B question numpery 21 to 25 are Very Short Answer {VSAJ
type questions, Carrying 2 marks egeh,

. . e
() In Section-C Question numbers 26 1o 91 are Short Answer (SA) tYP
Questions, carrying 8 marks each.

(Vi) In Section-D Question numbers 32 1o 35 are Long Answer (LA) ype
questions, carrying 5 marks each,

(vii) In Section-E question numbers 36 1o 38 are Case Study based

integrated question carrying 4 marks each. Internal choice is provided
in 2 marks question in eqch case-study.

(viii) There is no overall choice. However, an internal choice has been provided

in 2 questions in Section-B, 2 questions in Section-C, 2 questions in
Section-D and 3 questions of 2 marks in Section-E.

(ix) Draw neat diagrams wherever required. Take n= 22 wherever required,

if not stated.

(x) Use of calculators is NOT allowed.
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ents is trye 9

e ]engt.h Of
S : There does not exist

tangent is 5 ¢y,
@4) p

® Q
© R D) S

. wher
a point outside the circle from

In the adj

; ith centre
oining figure, AP anq AQ are tangents to the circle W1
O. If refl

ex ZP0Q = 210°, the value of 2x is

(A) 30° (B) 50:
(C) 120° D) 300

If x = 2 sin 60° cos 60° and y = sin230° — cos?30° and x* = ky?, the value of 1
x =
kis
®) 3
(&) 3 o
(C) 3

f height 10 m observes a snake
itting on the top of a tree o
A peacock sitting

1 base of the
nake 18 10\@ m away from the :
moving on th&;:o’ fm;z;;.::;iﬂ;; :f the snake from the eye of the peacock is 1
tree, then ang

(B) 46°
0° - _
(C) 6 - 5|Page E o P.T.0.
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5. e
f a CoOne id woode
. of a gol gf
:g:::l%er, theﬁ;?iiﬂ"“ihlﬂ volume is hollowed out g:jmtﬂ the yolume 1
(A) 1':: Owed out jg © of the volume of remaining ¥
© 2.4 B 1:3
1
6. Ity (D) 3
e mod an i8 25,
en the egim::lﬁ oba'i'r"ﬂhong is 10 and sum of mean and medl 1
A 1 and 13 me respectively are
(©) 10 and 15 (B) 18and12
(D) 15and 10
7 If the maximym, t of 80,
then Number of students has obtained 52 marks ot 1
(A) 52is the ta.
(C) 52isthe Eﬂan of the data. (B) 52 is the median of the A2t
ode of the datq. (D) 52 is the range of the data-
8. Thes .
ystem of equations y + 5 = 0 and 2= b has '
A -
(A) No solution (B) [_3, %) as its solution
o (2_ ] - .
( ) 9 a | as 1ts Bolutmn (D) Infinite solutions
9. In a right triangle ABC, right-angled at A, if sin B =%, then the value of
sec B is 1
@ 4 @ o
©) 15 ® 73
10. f0.4 is a/an 1
(A) natural number (B) integer
(C) rational number (D) irrational number
11. Which of the following cannot be the unit digit of 8", wherenis g natural
number ? B) 2 1
A) 4 D) 6
(C) 0
— 7|Page O] I C
5 P.T.0Q.
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12. Which of thg ¢ 1
OWin :
(A) x2= 0 B equntmna does not have a real root ?
(C} :r2+1=0 (B] 2:_1__,3
D) P+22=0
8 of the . others
then the v alue of l:“]}'nnmm] ax? + by + ?-_rb? 4o reciprDCB-l of each )
(A) 2
1
® 3
C -2 .
D) -3
14- The diata_nce Of " 1
Point P(3a, 1a) from y-axis
@ 3a o y .
-3a
(C). 4a
(D) —4a

15. Inthe adjoining figure, PQ | XY || BC, AP = 2 cm, PX = 1.5 cm and BX=4cm.
If QY = 0.75 cm, then AQ + CY =

(A) 6cm (B) 4.5cm
‘ (C) 3cm (D) 5.25 cm
16. Given AABC ~ APQR, ZA= 30° and £Q = 90°. The value of (<R + /B) is 1
| (;;re 9.00 (B} 120°
(D) 180°
(C) 150°
9|Page op0) =g
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17. Two oq; v
Ing 5 ing 2U°%7 1
One heggq ; re tosseq .. o of gettlﬂﬁ
is Simultapnegyg] robability ¢
@ 1 usly, The p
4 1
© 3 ® 3
D) 1
18. In the gq: . . 0
adjo e with centre 1

Ning i
Such that ¢p _ g U"e PA and PB are tangents to 8 circ}

90 ole 18
fAB= 3V/2 cm, then the diameter of the cir°

0 B
(A) 32 em - F
© 3em (B) 62cm
(D) 6em

Directi : -

(A) ieﬂc;;?lgs -dIn Question Numbers 19 and 20, a statement of Amortion

Choose £k wed by a statement of Reason (R).
8e the correct option from the following :

(A) Both Aaa_ertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not s
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

19. In an experiment of throwing a die, 1
Assertion (A) : Event E, : getting a number less than 3 and Event E, :
getting a number greater than 3 are complementary
events.
R . If two events E and F are complementary events, thep
Reason (R) P(E) 4 P(F)= 1.
. ) dd prime numbers x and y (x
A) : For two © &2 ),
20. Assertion ( LOM(x, 43) = ‘m,l R .
X, ) is a multiple o X, y).
Reason (R) LCM(x, ¥
L — ll | P a g e m’,_mn_-_'—-_P__'E__
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This sectjgy has 5 SECTION . g s of 2 mark
each, Short angwer type questio 2
21, (a) [faucﬂ-bht -
Prove that a2 4 n2 = u;:ndthEcﬂ-!- atanf=n,
m
2A.
® Use the entity . 4 %A +cc?£g 1 to prove that tanA + 1= %6
HEI‘I(‘-’E. find the valy 5 .o an acu
€ of = here Ais 2
ﬂ.l'.I.E]B. t&n A, When sec A 3 w
22. Prove that ﬂbBCiBBa ) L - ints with
coordinates A(7, 1) gny ﬁ(‘,f.“;?tisl‘z Which is equidistant from po 2

More than its ordinate.

23. In the adjoining figure, Ap - lem, Bp -

2
A Zcm, AQ = 1.5 cm and AC =4.5 cm

lem

24, A. bag contajng balls DUmbered g ¢, 91 such that

erent number, 2 ball ig drawn at
probability that

() it bears g 2-

digit Number
(i) it bears g m

2
ultiple of 1.

g pair of equationg algehraica]l:,r :
101x + 102y = 304

2
102x + 101y = 3056

OR

®) In a pair of Supplementary angles,

smaller by 50°, gy

the Ereater
press the piven g

ituation ag 4 System of l‘;nthe
€quations in two variables and hence obtajy the Measure of -
angle. ach
—_— 2
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This sectigy hag

X SECTION -C
?ﬁ' ChEﬂk whEtrher t'he 'urt Hh;w

consistent, 8olve gra Bivep v ®r type Questions of 3 marks each:
2.’: + Y=

' 1),
E;lr:tlllldogmm D ]:(D’ 2, C(g, 4) ices of &
erABCDiBare:: hen fing t’ha E&Jild D(7, q) are thel_i{em*ﬂ ok
Ele op not, values of p and g. ence, 3

3. (@) Prove that ;€88 -3 o3y

Bmahzsinaﬂi'mtﬂz(}l 3
OR
[:b) leen that Hin 0+ .
COH 'B = x ) 2 _ - 1 3
» Prove that gin40 + cog?e = i -
29. In the adjoining figu
re, .
centre O. If <0PQ = 150 :}i flcnd TQ are tangents drawn to a circle with
FPQP =6, then find the value of sin 26. 3
N
T
Q
30. (a) Prove that+/5 is an irrational number. 3
OR
(b) Let p, q and r be three distinct prime numbers. R
Check whether p - q-r +q is a composite number or not.
Further, give an example for 3 distinct primes p, q, r such that
(i) p-g-rtlisa composite number.
(i) p-q-r+l isaprimenumber.
5L Find the zeroes of the polynomial 1) = 0 + 35 - 1. Hence, write
' i f the zeroes of polynomial
polynomial whose zeroes are reciprocal 0 yn r(x). 3
— s TR
30/6/3 = Ol 1.0,
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! SECTION -D

g section has 4 long answer questions of 5 marks each.

If a line drawn parallel to one side of triangle intersecting the oth.er
8 two gides in distinct points divides the two gides in the same ratio,
then it i8 parallel to third side.

gtate and prove the converse of the above statement.

OR
) In the adjoining figure, ACAB is a right triangle, right angled at A
b and AD L BC. Prove that AADB ~ ACDA. Further, if BC = 10 cm and
D = 2 em, find the length of AD.
C

A B

-

M

The total height of the tank is 3.3 m and height of conical part is 1.2 m.
The diameter of the cylindrical as well as conical part is 1 m. Find the
capacity of the tank. If the level of liquid in the tank is 0.7 m from the top,
find the surface area of the tank in contact with liquid.

i - 17|Page P.T.O.
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pgplll&tiﬂn of lions wag

The following table :
thﬂumber oflions | N

noted in different regions across the world in

| Number of regicns |
w—m{,—“—xﬁ?ﬂé&ﬁm
| 100 - 200 5
300 - 400 12
. 400 - 600 "
500 - 600 20
60’0 - 700 15
700 — 800 9
800 — 900 v
900-1000 | 5
100

Ifthe median of the given data ig 525, find the values of x and -

(a) There is a circular park of diameter 65 m as shown in the following
figure, where AB is a diameter,

N

An entry gate is to be constructed at a point P on the boundary of the
park such that distance of P from A is 35 m more than the distance
of P from B. Find distance of point P from A and B respectively.
OR
) Find the smallest value of p for which the quadratic equation
22 - 2(p + 1)x + p? = 0 has real roots. Hence, find the roots of the
equation so obtained.

B

SECTION - E

This section has 3 case study based questions of 4 marks each.

The Statue of Unity situated in Gujarat is the world’s largest Statue
which stands over a 58 m high base. As part of the project, a student
constructed an inclinometer and wishes to find the height of Statue of
Unity using it.

He noted following observations from two places :

Situation -1 :

The angle of elevation of the top of Statue from Place A which is 30\!3 m
away from the base of the Statue is found to be 60°.

S

LT ~ 19|Page 4 P.T.0.
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Situation - II ;

The angle of elevatigp of the top of Statue from a Place B which is 40 m

!;buve ‘the ground ig found to be 30° and entire height of the Statue
including the base is found to be 240 m

*A
Based on given information, answer the following questions :
(i) Represent the Situation — I with the help of a diagram.
(i) Represent the Situation — II with the help of a diagram.
(iii) (a) Calculate the height of Statue excluding the base and also find
the height including the base with the help of Situation - .
OR
(i) () Find the horizontal distance of point B (Situation —II) from the
Statue and the value of tan a, where  is the angle of elevation
of top of base of the Statue from point B.

Anurag purchased a farmhouse which is in the form of a semicircle of
diameter 70 m. He divides it into three parts by taking a point P on the
semicircle in such a way that ZPAB = 30° as shown in the following

figure, where O is the centre of semicircle.
P

30/6/3 ~ 21|Page 4 P.T.O.
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" 1, he planted saplin
Iﬂpiﬂ pﬂ.l-'t 111, he grew or
ﬁuﬂiﬂg questions,

i What i8 the measure of /PQA 2
|

i Find the length of wire needed to fence entire piece of land.

(i) (8) ﬁl::it t;le area of region in which saplings of Mango tree are
planted,

g8 of Mango tree, in part II, he grew tomatoes
anges. Based on given information, answer the

OR
(i) (b) Find the length of wire needed to fence the region III.

i order to organise, Annual Sports Day, a school prepared an eight lane
 unning track with an integrated football field inside the track area as
shown below :

- 330 - 360/ 100 m - 110 m .

GHEZEELS

The length of innermost lane of the track is 400 m and each subsequent
lane is 7.6 m longer than the preceding lane.

Based on given information, answer the following questions, using concept
of Arithmetic Progression.

(i) What is the length of the 6t lane ?
() How long is the 8th lane than that of 4tk lane ?
(i) (a) While practicing for a race, a student took one round each in
first six lanes. Find the total distance covered by the student.
OR

(i) (b) A student took one round each in lane 4 to lane 8. Find the total
distance covered by the student.

1
1

2

2

Wiers ~

23|Page m





{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

